
Page 1 | AVENTICS

Easy2Combine, Connection kit
Weight See table below

Technical data

Part No. Easy2Combine basic Easy2Combine add-on part

R412004665 GPC-ST-12 GPC-ST-20 MSC-12 RTC-HD 16 RTC-HD 25 GPC-E-12 ZSC-10
R412004661 GPC-ST-12 GPC-ST-20 GSU-16 MSC-16 MSC-20 RTC-CG 16 GPC-E-16 ZSC-16

Part No. Easy2Combine kit Weight

R412004665 CK1-LI-13 0,1 kg
R412004661 CK1-LI-14 0,17 kg

Technical information

Material

centering pins Steel, hardened

Centering sleeve Stainless steel

Subbase Aluminum, anodized Aluminum

Screws Steel, galvanized

T-groove nut Stainless steel

centering pins, ISO 2338:1997

PDF creation date: 23.03.2019

www.valves-direct.com | Pneutrol International Limited | sales@pneutrol.com UK Office

UK Office 
5 Caulside Drive 
Antrim 
BT41 2DU 
United Kingdom 
+44 (0) 28 9448 1808

European Office 
Unit 6, Saint Anthony's Business Park 
Dublin 
D22 VW95 
Ireland 
+353 (0) 1 4373653



Page 2 | AVENTICS

Dimensions

CK1-LI-13

PDF creation date: 23.03.2019

www.valves-direct.com | Pneutrol International Limited | sales@pneutrol.com UK Office

UK Office 
5 Caulside Drive 
Antrim 
BT41 2DU 
United Kingdom 
+44 (0) 28 9448 1808

European Office 
Unit 6, Saint Anthony's Business Park 
Dublin 
D22 VW95 
Ireland 
+353 (0) 1 4373653



Page 3 | AVENTICS

DimensionsCK1-LI-14

Dimensions

Easy2Combine kit CK1-LI-13 CK1-LI-14

B1 49 64
H1 8 10
L1 63 72
L2 0.5 4

PDF creation date: 23.03.2019

www.valves-direct.com | Pneutrol International Limited | sales@pneutrol.com UK Office

UK Office 
5 Caulside Drive 
Antrim 
BT41 2DU 
United Kingdom 
+44 (0) 28 9448 1808

European Office 
Unit 6, Saint Anthony's Business Park 
Dublin 
D22 VW95 
Ireland 
+353 (0) 1 4373653



Page 4 | AVENTICS

DimensionsScope of delivery: A) connection plate B) screws C) centering sleeves D) centering pins E) sliding

Easy2Combine kit CK1-LI-13

A 1 x
B 1) 4 x M3x16; 4 x M4x10; 4 x M4x30
C 2) 2 x Ø 7; 2 x Ø 9

D 2 x 4 m6 x 12
E 2 x N6 / M4

CK1-LI-14

1 x
4 x M4x20; 4 x M4x35; 2 x M5x10;2 x M5x12; 2 x M5x14

4 x Ø 9
2 x 4 m6 x 12
2 x N6 / M5

1) tightening torque M3 = 2,2 Nm ± 10%; M4 = 3,5 Nm ± 10%; M5 = 6,0 Nm ± 10%; M6 = 10 Nm ± 10%
2) ISO 4762:2004

Diagrams

slide mounting: transverse

PDF creation date: 23.03.2019

www.valves-direct.com | Pneutrol International Limited | sales@pneutrol.com UK Office

UK Office 
5 Caulside Drive 
Antrim 
BT41 2DU 
United Kingdom 
+44 (0) 28 9448 1808

European Office 
Unit 6, Saint Anthony's Business Park 
Dublin 
D22 VW95 
Ireland 
+353 (0) 1 4373653



Page 5 | AVENTICS

Diagramsslide mounting: transverse

PDF creation date: 23.03.2019

www.valves-direct.com | Pneutrol International Limited | sales@pneutrol.com UK Office

UK Office 
5 Caulside Drive 
Antrim 
BT41 2DU 
United Kingdom 
+44 (0) 28 9448 1808

European Office 
Unit 6, Saint Anthony's Business Park 
Dublin 
D22 VW95 
Ireland 
+353 (0) 1 4373653


	Easy2Combine, Connection kit
	Technical data
	Technical information
	Dimensions
	Dimensions
	Dimensions
	Dimensions
	Diagrams
	Diagrams




